
& 42 44
Ÿ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

Œ œ œ# œ# œ#
F

Furioso q = 89
w# >

f
w w

p

3Escuro q = 55

& 43 42 43 44
8

Ó .œ- œ. œ. œ.
3F

Marcato q = 76 
Con sord. (straight)

Jœ̆ ‰ Œ ‰ œ- œ-

3

œ# . œ. œ. œn ˘ œ. œ. œ. œ# ˘

3 3

∑
Senza sord.

∑

& 44 85
13 2Agressivo q = 89

Ó
>̇

f
∑ œ- œ- œ- œ œ œ œ œ

æ
> œ

æ
>

3

6Fluido q = 55

& 43 85 83 85 43 42 43
13

Lento q = 68
2

∑ ∑
4 8

& 43
30

˙# œ œ œdolce e cantabile
Con sord. (straight)

P
.œ# œ œ œ .œ œ œ œ .œ œ œ œ œ#

3

œ Œ Œ
Senza sord. 5

& 43 42 43 42 43 42 43
2

Marcato q = 89
2 2 2 2

∑

(TACET)

& 43 42 43 42 43 42
12 3 6

∑
Calmo q = 76 2

∑ ∑

IQuatro Quadros
para Banda Sinfônica

Pedro Henrique de Faria

Trumpet in Bb 1

I

II 

Pedro Henrique de Faria

Quatro Quadros
para Banda Sinfônica

III

© 2014 - Pedro Henrique de Faria



& 45 43 44∑
4

Cantabile q = 76 
4

Œ ‰ . R
œ

. .œ# >
R
œ

f

Marcato, grandioso q = 89 .œ# > œ#
. .œ

> R
œ .œ> œ#

& 42
11

. .œn >
r

œ# .œ
>

œ#
œ> .œ œ . .œ

æ
>

R
œ# œ#

æ
> 3

‰ Jœ# >
‰ J

œ# >

ƒ
Jœ# >

‰ ‰ Jœn >
Jœ# >

‰ ‰ Jœ#
æ
>

& 43 42 43
19 œ

æ Œ
2

‰ Jœæ
> œ

æ
3

Cantabile, escuro q = 68
œ# > œ> œ> œ>

Marcato q = 89

& 43 41 43 44 41 45
27 2Cantabile, escuro q = 68

œ# > œ>
Marcato q = 89

∑
Cantabile, escuro q = 68 4Morrendo q = 55

œ# >Agressivo q = 89

& 45 41 44 41 44
36

∑
Morrendo q = 55

∑
Agressivo q = 89

∑
Morrendo q = 55

∑
Agressivo q = 89 2Morrendo q = 55

2
IV



& 42 44
Ÿ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

∑
Furioso q = 89

w# >f
w w

p

3Escuro q = 55

& 43 42 43 44
8

Ó .œ- œ. œ. œ.
3

F

Marcato q = 76 
Con sord. (straight) jœ

fl
‰ Œ ‰ œ- œ-

3

œ# . œ. œ. œn
fl

œ. œ. œ. œ# ˘3

3

∑
Senza sord.

∑

& 44 85
13

Ó Œ œ>
Agressivo q = 89

f
w w w œ-# œn - œ# - œn æ

>
œ#

æ
> œ œn œ# œn

3

6Fluido q = 55

& 43 85 83 85 43 42 43
13

Lento q = 68
2

∑ ∑
4 8

& 43
30

˙ œ œ œ
P

Con sord. (straight)
dolce e cantabile .œ œ œ# œn .œ œ œ# œ .œ œ œ# œ œ

3

œ Œ Œ
Senza sord. 5

& 43 42 43 42 43 42 43
2

Marcato q = 89
2 2 2 2

∑

& 43 42 43 42 43 42
12 3 6

∑
Calmo q = 76 2

∑ ∑

IQuatro Quadros
para Banda Sinfônica

Pedro Henrique de Faria

Trumpet in Bb 2

I

II 

Pedro Henrique de Faria

Quatro Quadros
para Banda Sinfônica

III

© 2014 - Pedro Henrique de Faria



& 45 43 44∑
4

Cantabile q = 76 
4

Œ ‰ ≈ r
œ#

.œ> œ# œ>

f

Marcato, grandioso q = 89
.œ œ#

.œ> œ . .œ>
R
œ#

& 42
11

.œ
> œ . .œ# >

R
œ# .œ

> œn
.œ# >

œn
. .œ

æ
> r

œ# œn
æ
> 3

Jœ
>

‰ ‰ Jœ# >

ƒ
J
œ>

‰ Jœ
>

‰ Jœ
>

‰ Œ
Senza sord.

& 43 42 43
19

∑ Œ œæ
>

jœæ ‰ Œ ∑
3Cantabile, escuro q = 68

œ> œ> œ> œ>
Marcato q = 89

& 43 41 43 44 41 45
27 2Cantabile, escuro q = 68

œ> œ>
Marcato q = 89

∑
Cantabile, escuro q = 68 4Morrendo q = 55

œ>
Agressivo q = 89

& 45 41 44 41 44
36

∑
Morrendo q = 55

œ>
Agressivo q = 89

∑
Morrendo q = 55

∑
Agressivo q = 89 2Morrendo q = 55

2

IV



& 42 44
Ÿ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

∑
Furioso q = 89

w>f
w w

p

3Escuro q = 55

& 43 42 43 44
8

Ó .œ- œ. œ. œ.
3

F

Marcato q = 76 
Con sord. (straight)

jœ
fl

‰ Œ ‰ œ- œ-
3

œ. œ. œ. œ
fl

œ. œ. œ. œ
fl

3 3

∑
Senza sord.

∑

& 44 85
13

w# >

f

Agressivo q = 89
w w œ œ# œ œ œ>

æ
œ- œ- œ >- œ

æ
3

˙
æ
># ˙

6Fluido q = 55

& 43 85 83 85 43 42 43
13

Lento q = 68
2

∑ ∑

(TACET)
4 8 10

& 43 42 43 42 43 42 43
2

Marcato q = 89
2 2 2

(TACET)

2
∑

& 43 42 43 42 43 42
12 3 6

∑
Calmo q = 76 2

∑ ∑

IQuatro Quadros
para Banda Sinfônica

Pedro Henrique de Faria

Trumpet in Bb 3

I

II 

Pedro Henrique de Faria

Quatro Quadros
para Banda Sinfônica

III

© 2014 - Pedro Henrique de Faria



& 45 43 44∑
4

Cantabile q = 76 
4

Œ ‰ ≈ r
œn

. .œ# > r
œ

f

Marcato, grandioso q = 89
. .œ# >

R
œ# .œn > œ œn >

& 42 43
11

.œ œ# .œ# >
œ# . .œ# >

R
œ

.œ# >
œ . .œ#

æ
>

R
œ œ

æ
> 6

Œ œ#
æ
>

ƒ
Jœæ

‰ Œ Œ œ# >
æ

˙
æ

& 43 42 43 41 43 44
23 3Cantabile, escuro q = 68

œ
>

œ
>

œ
>

œ
>

Marcato q = 89 2Cantabile, escuro q = 68

œ
>

œ
>

Marcato q = 89

∑
Cantabile, escuro q = 68

& 44 41 45 41 44 41 44
31 4Morrendo q = 55

œ
>

Agressivo q = 89
∑

Morrendo q = 55

œ
>

Agressivo q = 89
∑

Morrendo q = 55

∑
Agressivo q = 89 2Morrendo q = 55

2

IV


